M3t / a////rg

ChIS” ~ Bl AN
.
£ (xy) :’u"lrg[pu fnchion | N Ll >
L4 .
I

vhe f iy ('"“"\.MMNS,

85.3 Tlopuls wer' govinl veyios

%J Wkubm[
R o
“ A b dn = bk Flxg)= § F89) Cled
> l 0 (’(17“0
’ b ?), b d P
Sg Fluy) JA - M/+ ( oo dy J« ([ odn
R / o), )a/“,’;

\ B T




by,

= (f F0u9) dy dx whio 9,08, are fuchay f

¢ Y

T,T»I R | "}»'J,("-b{'i;n fvst

T\’..,‘.(,IL : -— X- otl.vfcl\;h F\—VS" o

4 hly)
N (T o) & 4y
/ ’ \ Yozhaly) © Wily)
/|
X.:L,(‘)l —
Ex. J{ (xray) dA 3 bdd Lheon PN
D - 1 y=lex>
r V)»:l)(l
H A s 4
LA "
\\[[ —> | N
—\ S A/
D oy Y:.Y
[ | x>
g ‘ (x+2y) Jl,; dx 2y = 1+ X3
| sz“ | ot
 ~ xt x= 2
(] wey o 1
) o 7]
= 7:11 W

; Jf x(16:x) + (1ef - x@8) - (2¢)" dx

-1

- 2 Y «




l

= ;{So | +2xt-3x" J-X-? Q(X.r?;x‘-;__::f)\‘o

< o f[is40-3) - 32
V /75 |~ T

\/\

-

Bx N[ eyt dt D n W bbven (9= k) x=1y

0 A 4=2x 5w=7‘2—> x=0y
A J‘. \' - 1 ’
\ (RPN ™ \
N /X b
% ‘ \/ 2=
X x(%x-2)=0
// r ¥ ‘.ﬁ) X=y X=)
\ \ Xl'hll dx 1\4
J Ji ' /
0 %= 3%
= Y‘r N—'v? 4 X ?_J? s
N C A
- ~= i‘}
1

v
= ‘.lnglzd-%ﬂz v—!- la3 J'VL
i3] T '
1.2 % 2 J_q"-'
= 33% ot 3t -5y,




_ 7 =
D AT "7 ke g TM(@M)L@_
Al

v -
B v W
o= x dx J, FTTS
] ) l“.';
L 2
-
W)= L vo-3
4 [
2y +1:?’~_(
v;"—),.} -§ =0
(‘}4 2 )(1‘;»4 =0
1-:.'1 y=Y
Ex . Set wp o deble nlemal mﬁ} o Lolugre of The
WM%%.Q -3
T YA = 2201
X=a9
r =
'e_—\ ( X=p X’I’R? Q
\ 2=0 I ke 7|
(xy)=(a0) 1 2z,
L(X)g) r\ \

n r? t \= gg1~x-2v} dA




-

2
o~

= |- hx

X=|

xX=0 4D X=u

v:o—
[}

“
'

U

<

0

)
0

L

smlp) dx dy
! r

_

==

-~

X Sl;gf)_'

X<o

]




